
 

  

 

 
 
 
 

 

 

 
,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu;fs; fofk; 

 
    AA3 guPl;ir - [_iy 2019 
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tpdhf;fSk; kw;Wk; gupe;Jiuf;fg;gl;l tpilfSk; 

ghl ,yf;fk; : AA32 
 
 

 

Kfhikj;Jtf; fzf;fPLk; epjpapaYk;  

(MAF) 
 

,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu;fs; fofk; 
 ,y:540> ntd; KUj;Jntl;Lt Mde;j eapkp khtj;ij> 

ehuapd;gpl;l >nfhOk;G 05 
njhiyNgrp ,yf;fk; : 011-2-559669 

 
 

,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu; fofj;jpdhy; gpuRupf;fg;gl;lJ 
 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

 
 

 

   
 
 
 

 

ehd;F (04) fl;lha tpdhf;fs; 
(20 Gs;spfs;) 
 

 

tpdh 1 f;F gupe;Jiuf;fg;gl;l tpilfs; 
 
mj;jpahak; 8 – Ra epjp Nkyhz;ik  

 
Nrkpg;G 
Nrkpg;G vd;gJ Fwpg;gpl;l FWfpa fhy Nehf;fj;jpw;fhf gzj;ij xJf;fp itf;Fk; 
nray;KiwahFk;. ,J nghJthf mtruepiyfSf;Fk; jputj; jd;ikAila 
Njitfisg; g+u;j;jpr; nra;aTk; gad;gLj;jg;gLk;. ,g;gzk;  tpiyg;gl;bay;fs; kw;Wk; 
nryTfisr; nrYj;j KbAk;. Nrkpg;ghsu;fs; tof;fkhd tUkhdj;ij <l;l 
KbahjNghJ Nrkpg;G vjpu;fhyj;ij ghJfhf;Fk;. 

 

KjyPL 
KjyPlhdJ tho;f;ifj; juj;ij Nkk;gLj;j ePz;l fhy tUkhdk; mjpfupf;f gzj;ij 
xJf;fp itf;Fk; nraw;ghlhFk;. KjyPl;bd; Nehf;fk; ePz;l fhy ,yf;Ffis miltJ. 
NghJkhd Nrkpg;G jpul;lg;gl;l gpwF KjyPl;il njhlq;f Ntz;Lk;. 

 

Nrkpg;G 
(1) tpLKiwf;F gzj;ij Nrkpj;jy; 
(2) xU tPl;il thq;f Kw;gzk; nfhLg;gjw;fhf Nrkpj;jy; 
(3) mtruepiyfSf;F Nrkpj;jy; 
(4) xU tUlj;jpw;Fs; Gjpa fhiu thq;f Nrkpj;jy; (FWfpa fhyk;) 
(5) FWfpa fhyj;jpy;  jpUkzj;jpw;fhf Nrkpj;jy 

 

KjyPL 

(1) rpy ehl;fspy; eilngwTs;s cq;fs; Foe;ijfspd; jpUkzj;jpw;F 
(2) Foe;ijfspd; cau; fy;tp nryTfs; 
(3) Xa;t+jpak; ngw;w gpd; tUkhd Kiwiag; ngwy; 
(4) 10 Mz;Lfspy; nrhe;j epWtdj;ijj; njhlq;Ftjw;F 

   (nkhj;jk; 05 Gs;spfs;) 
 
 
 

gpupT - A 

,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu;fs; fofk;  

    AA3 guPl;ir- [_iy 2019  

(AA32) Kfhikj;Jtf; fzf;fPLk; epjpapaYk; 
 

gupe;Jiuf;fg;gl;l tpilfs; 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

tpdh 2 f;F gupe;Jiuf;fg;gl;l tpilfs;: 
 

mj;jpahak; 01- ghjPl;bd; %yk; jpl;lkplYk; fl;Lg;ghLk; 

 
(a) 
gpd;Dhl;ly; vd;gJ jpl;lkplg;gl;l (vjpu;ghu;f;fg;gl;l ntspaPL) kw;Wk; cz;ikahd 

ntspaPL Mfpatw;Wf;F ,ilapyhd NtWghl;bid mstPl;L vjpu;fhyj;jpy; Njitahd 

Kbit miltjw;F VJthd gpd;ida nraw;ghl;bid mj;Jld;/ my;yJ jpl;lq;fis 

khw;Wk; nraw;ghL MFk;. ,jd; Fwpf;Nfhs; vjpu; fhy cz;ik kw;Wk; ghjpl;l 

ngWkjpfSf;fpilapyhd NtWghl;bid jtpu;j;jYld; my;yJ Fiwjy; nrw;ghlhFk;. 

,J xU gjpy;eltbf;if nraw;ghlhFk;.   

Kd;Dhl;ly; vd;gJ jpl;lkplg;gl;l (vjpu;ghu;f;fg;gLk; ntspaPL) kw;Wk; cz;ikahd 

ntspaPl;bw;F ,ilapyhd NtWghLfis Kd;dwpe;J epfo;T Vw;gl Kd; ,JNghd;w 

NtWghLfis Kd;$l;bNa jLf;Fk; nraw;ghlhFk;. epfo;T eilngWtjw;F Kd;G 

NtWghl;il jtpu;g;gNj ,jd; Nehf;fk;. Cl;lr;rj;J fl;Lg;ghL nraypy; cs;sJ. ,J 

tUk; Kd; fhf;Fk; nraw;ghlhFk;. 

(03 Gs;spfs;) 
 

(b) 

 NtWghLfs; fhzg;gl;lTld; cs;sPLfis cldbahf khw;Wtjd; %yk; tpUk;gpa 

nray;jpwid ,J cWjp nra;fpwJ 

 xU mikg;gpd; ntspaPl;il gFg;gha;T nra;tjd; %yk; epiyaw;w nray;Kiwfs; 

cWjpg;gLj;jg;glyhk; 

 ,jw;F mikg;igg; gw;wpa tpupthd mwpT Njitapy;iy> Fwpg;ghf nray;Kiwapd; 

fzpj khjpup Njitapy;iy 

 ,r; nray;Kiwia xU fzpdpapypUe;J kw;nwhU mikg;gpw;F vspjhf 

efnyLf;fyhk; kw;Wk; nray;Kiw ntspaPl;ilf; fz;fhzpf;fTk; KbAk;  

 
 

                                                    (02 Gs;spfs;) 
 

  (nkhj;jk;  05 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

tpdh 3 f;F gupe;Jiuf;fg;gl;l tpilfs;: 
 
mj;jpahak; 07-njhopw;ghl;L %yjd Kfhikj;Jtk;                                                                                                                                       

 

 

2017/18 2018/19 

nkhj;j ,yhg tpfpjk; 10% 8% 

tpw;gidr; nryTfs; 10,800.00 11,500.00 

tpw;gidfs; 12,000.00 12,500.00 

 (10,800/90*100) (11,500/92*100) 

ruhrup fld;gl;Nlhu; ngWkjp 1,678.25 2,175.55 

 (1,459 + 1,897.5)/2 (2,453.6 + 1,897.5)/2 

 (1,678.25/12,000)*365 (2,175.55/12,500)*365 

fld;gl;Nlhu; kPs; nrYj;jy; - ehl;fs; 51 ehl;fs; 64 ehl;fs; 

 
my;yJ 
 
khw;W Kiw  

 

tpw;gidfs;= tpw;gidr; nryTfs;/(1- nkhj;j ,yhg tpfpjk;) 
 

Mz;L 2017/18  = 10,800,000/0.90 = 12,000,000 

Mz;L 2018/19  = 11,500,000/0.92 = 12,500,000 

 

fld;gl;Nlhu; kPs; nrYj;jy; - ehl;fs; =(ruhrup fld;gl;Nlhu; /tpw;gidfs;)*365 ehl;fs; 
Mz;L 2017/18        = [(1,459,000+1,897,500)/2]/12,000,000*365 

 

                              =  51 ehl;fs; 
 

Mz;L 2018/19        = [(1,897,000+2,453,600)/2)]/12,500,000*365 Days 

 

                               = 64 ehl;fs; 

 
       (03 Gs;spfs;) 

(b) 
Muk;gfhy fl;lz nrYj;jy;fSf;F js;Sgbia toq;Fjy;. 

fld; tuk;Gfs; kw;Wk; fld; fhyq;fis kW kjpg;gPL nra;jy;. Fhuzpg;gLj;jy; Nrit 

tpiyg;gl;baYf;F js;Sgbfis toq;Fjy; 

fld; fhg;gPL flDf;F vjpuhf fhg;GWjp 

(02 Gs;spfs;) 
(nkhj;jk;  05 Gs;spfs;) 

 
 
 
 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

tpdh 4 f;F gupe;Jiuf;fg;gl;l tpilfs;: 
 

mj;jpahak; 05 -  %jyPl;L kjpg;gha;T 
 

Mz;L 

fhRg; gha;r;ry; 

&.000 

fhRg; gha;r;ry; 

&.000 

0 (5,000) (5,000) 

1 464 (4,536) 

2 581 (3,955) 

3 620 (3,335) 

4 1,680 (1,655) 

5 2,465 - 

6 2,640 

  
 

 
 
 

(nkhj;jk;  05 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

kPs; nrYj;Jif fhyk;=  
4  Mz;L + 1,655 / 2,465 * 12 

 

4  Mz;L  kw;Wk; 8 khjq;fs; 

gpupT A ,d; KbT 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

 
%d;W (03) fl;lha tpdhf;fs;  
(30 Gs;spfs;) 

 

tpdh 5 f;F gupe;Jiuf;fg;gl;l tpilfs;: 
 
mj;jpahak; 04 - ,lu; kw;Wk; epr;rakw;w jPu;khdq;fs; 

 

(a) 

  நிகழ்தகவு 

vjpu;ghu;f;fg;gl;l epfu ,yhgk;    &.000 
KbT  1 KbT  2 KbT  3 

Fiw 
0.25 3,450 

2,275 
1,950 

ruhrup 
0.40 4,000 6,320 4,192 

cau; 
0.35 3,010 3,675 5,446 

  

10,460 12,270 11,588 

 
vjpu;ghu;f;fg;gl;l ngWkjp                                             
 
KbT  1  

3,450+4,000+3,010=10,460,000   

[(0.25*13,800)+(0.4*10,000)+(0.35*8,600)]   

&.10,460,000             

 
KbT 2  
                                                         

2,275,000+6320+3675 

[(0.25*9,100)+(0.4*15,800)+(0.35*10,500)] 

&.12,270,000 

 
KbT  3  
 

1,950+4192+5,446 

[(0.25*7,800)+(0.4*10,480)+(0.35*15,560)] 

&.11,588,000 

       
mjpf vjpu;ghu;f;fg;gl;l kjpg;G KbT 2 ,y; toq;fg;gLfpwJ. vdNt> KbT 2 I kW tpiy 

epu;zak; nra;a gad;gLj;jg;gl Ntz;Lk;. 

(06 Gs;spfs;) 
 

gpupt - B 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

(b) 

 
nghUshjhu Muha;r;rpapd; mbg;gilapy;                                            vjpu;ghu;f;fg;gl;l ngWkjp 
gztPf;fk; cs;sNghJ 
 

Fiwe;j – KbT 1 Nju;e;njLf;fg;gLk;    (13,800*0.25)   = 3,450,000 

 

ruhrup - KbT 2 Nju;e;njLf;fg;gLk;           (15,800*0.4)           =     6,320,000 

 

mjpfkhd KbT 3 Nju;e;njLf;fg;gLk;              (15,560*0.35)          =        5,446,000 

 

rupahd jftiyg; gad;gLj;jp vjpu;ghu;f;fg;gLk; ngWkjp      =     15,216,000 
 

rupahd jfty;fs; ,y;yhky; vjpu;ghu;f;fg;gLk; ngWkjp      =       (12,270,000) 

 

                                                                                                                           2,946,000 

 

 
rupahd jfty;fis gad;gLj;jpdhy; epWtdj;jpw;F & .2>946 kpy;ypadhy; ,yhgj;ij 

mjpfupf;Fk;. Mifahy;> epWtdk; nghUshjhu Muha;r;rp epWtdj;jpd; Nritfisg; ngw 

Ntz;Lk;> Vnddpy; mtu;fs; Nkw;Nfhs; fhl;ba fl;lzk; (&.2 kpy;ypad;) ed;ikia tpl 

Fiwthf cs;sJ.. 

(04 Gs;spfs;) 
(nkhj;jk;  10 Gs;spfs;) 

 

 

tpdh 6 f;F gupe;Jiuf;fg;gl;l tpilfs; 
 

mj;jpahak; 01-ghjPl;bd; %yk; jpl;lkplYk; fl;Lg;ghLk; 
 

2019/20 epjpahz;Lf;fhd ghjPL      &.000 
 

 
mjpf rhj;jpak; rpwe;j rhj;jpak; Nkhrkhd rhj;jpak; 

tpw;gid 
tUkhdk; 

1300Km* 

1.05* &.40 54,600.00 

1300Km* 

1.07* &.40 55,640.00 

1300Km* 

1.02* &.40 

         

53,040.00  
khWk; fpuak; 

      vupnghUs; nryT 1365Km* 

1.15* &.14 (21,976.50) 

1391Km* 

1.09* &.14 (21,226.66) 

1326Km* 

1.18* &.14 

       

(21,905.52) 
biutu; kw;Wk; 
fkp\d; @ 3% 

 

(1,638.00) 

 

(1,669.20) 

 

(1,591.20) 
gq;fspg;G 

 

30,985.50 

 

32,744.14 

 

29,543.28 
gpw epiyahd 
nryT 

&8,500 * 

1.08 (9,180.00) 

&8,500 * 

1.05 (8,925.00) 

&8,500 * 

1.12 (9,520.00) 
,af;fp & rk;gsk; &15,000*1.1 (16,500.00) &15,000*1.1 (16,500.00) &15,000*1.1 (16,500.00) 
,yhgk; 

 

5,305.50 

 

7,319.14 

 

3,523.28 
 

               (Nkhj;jk; 10 Gs;spfs;) 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

tpdh 7 f;F gupe;Jiuf;fg;gl;l tpilfs; 
 
 

mj;jpahak; 06- %yjd %yq;fSk; %yjdf; fpuaKk; 

(a) 
i)  rhjhuz gq;Ffspd; fpuak; 

 

 

re = D0  (1+g) + g 
 

   

P0 

 

  

= 3 (1+0.04) 
+  

x 0.04 

   

25 

 

  

=  16.48% 

  
 

(02 Gs;spfs;) 
ii) kPsKbahj fld; gj;jpuq;fspd; fpuak; 

 

 

 

rd = K (1-t) 
 

   

P0  

  

= 12 (1-0.28) 
 

   

100 
 

  

= 8.64 x 100 

   

100 
 

  

= 8.64% 

 
 
 

(02 Gs;spfs;) 
 

iii) kPsKbahj Kd;Dupik gq;Ffspd; fpuak; 
 

 
 
 
 

 

 

 
(02 Gs;spfs;) 

 
iv)  re;ij kjpg;Gfisg; gad;gLj;jp %yjdj;jpd; ruhrup fpuak; (WACC) 

 

%yk; re;ij 
kjpg;G 
&. 

epiwNaw;wk; %yjd 
fpuak; 

% 

WACC 

rhjhuz gq;Ffs; 500,000 33% 16.48% 5.44 

fld; gj;jpuq;fs; 800,000 53% 8.64% 4.58 

Kd;Dupik gq;F 200,000 14% 6.00% 0.84 

 

1,500,000  

 

10.9 
 
 

WACC = 

 

=10.90% 

  (02 Gs;spfs;) 
 
 

 rp = D0  

   

P0  

  

= 1.2 x 100 

   

20 
 

  

= 6% 

 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

(b)  gpd;tUtdtw;wpy; VNjDk; 2 I Fwpg;gpLf 
 

(1)  cupik Ijhf;fk; 

rhjhuz gq;Ffisg; Nghyy;yhky; fld; gj;jpuq;fSf;F thf;fspf;Fk; 

cupikia mspf;fhJ> vdNt gq;Fjhuu;fspd; fl;Lg;ghl;bw;F cupik 

Ijhf;fk;; Vw;glhJ.  

(2);  tl;br; nryTfSf;F tup tpyf;F cz;L 

fld; %yjdj;jpw;F nrYj;jg;gLk; tl;bw;F tup tpyf;F mspf;fg;gLfpwJ> 

vdNt flDf;fhd nryT  cupikahz;ik nrytplid tpl kypthdJ.  

(3) Fiwe;j nryT 

fld; gj;jpuq;fis ntspaPLjy; nryTfs; kw;Wk; %yjdr; nryTfs; 

cupikahz;ik nrytplid tpl fldpy; Fiwthf cs;sJ kw;Wk; epWtdk; 

fiyf;fg;gLk; NghJ gq;Fjhuu;fSf;F Kd;ghf fld; KjyPl;lhsu;fspd; fld; 

jPu;f;fg;gLk; vd;gjhy; fld; KjyPl;lhsu;fSf;F Fiwe;j mghaj;ijf; 

nfhz;bUf;fpwhu;fs;. 

(4) fld; tl;b epWtdj;jpd; nray;jpwd; jq;fpapUg;gjpy;iy 

  epWtdj;jpd; nray;jpwd; Nkk;gLk; NghJ> gq;Fjhuu;fshy; mjpf 

gq;fpyhgj;ij vjpu;ghu;g;gJ Nghyy;yhky; fld; KjyPl;lhsu;fSk; mjpf 

tl;bia vjpu;ghu;g;gJk; ,y;iy mtw;iw nrYj;j Ntz;Lk; vd;W 

mu;j;jky;y.  

(02 Gs;spfs;) 
(nkhj;jk;  10 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

gpupT B ,d; KbT 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

,uz;L (02) fl;lha tpdhf;fs;.  
(nkhj;jk; 50 Gs;spfs;)  

 
 

tpdh 8 f;F gupe;Jiuf;fg;gl;l tpilfs;:  
 

mj;jpahak; 03- njhlu;Gila fpuak; jPu;khdk; 
 

 

(A)(a) 
 Mf;ff;$Wfs; 

thq;fg;gl;lhy;, A B C 

xU myfpw;F Jiz xg;ge;jf;fhuupd; tpiy 2,380 4,300 5,600 

xU myfpw;F Neub nryT Nrkpg;G (2,350) (4,160) (5,450) 

 30 140 150 

xU myfpw;F Nkyjpf Neub nryT 36,000 20,000 22,000 

cw;gj;jp msT (myFfs;) 1,080,000 2,800,000 3,300,000 

 1,800,000 1,500,000 2,090,000 

Jiz xg;ge;jj;jpdhy; Vw;gLk; Nkyjpyf 
nryT 

720,000 (1,300,000) (1,210,000) 

 

(06 Gs;spfs;) 
 

 

(b) 
 

 fk;gdp Mf;ff;$W A I kl;Lk; nfhs;tdT nra;a Ntz;Lk;. Mt;thW 

nra;tjdhy; epWtdj;jpw;F tUlhe;jk; &. 720,000 I Nrkpf;f KbAk;. 

 Mf;ff;$W  B kw;Wk; C I nfhs;tdT nra;Akhapd; mit Nkyjpfkhf &. 1.3 

kpy;ypad; kw;Wk; &. 1.21 kpy;ypad; tUlhe;j nrytpid fk;gdpf;F tpistpf;Fk;. 

,jid thq;Ftjd; %yk; Nrkpf;ff;$ba Neub epiyahd Nke;jiy nryTfs;, 

Mf;ff;$Wfis thq;Ftjdhy; Vw;gLk; Nkyjpf nryit <Lfl;l NghJkhdjhf 

,y;iy vd;gjhy;. 

(02 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

gpupt - C 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

(B) 
 

(a)  A jahupg;Gf;fhd gq;fspg;G   =  tpw;gid tpiy-khWk; fpuak; = 1,200-1,095 = 105 / -                       
B jahupg;Gf;fhd gq;fspg;G = 900-810=90/= 

 

 

 

(03 Gs;spfs;) 
(b) 
khwpfis milahsk; fhZjy; 

X vd;gJ A ,ypUe;J cw;gj;jp nra;ag;gLk; myFfspd; vz;zpf;if 

Y vd;gJ B ,ypUe;J cw;gj;jp nra;ag;gLk; myFfspd; vz;zpf;if 

 Nehf;fr;rhu;G  

Z = 105X + 90Y 

 tiuaiwfs;  

%y cw;gj;jp nghUs; -  X2  

4X + 4Y <= 220,000  - rkd;ghL 01 

$yp kzpj;jpahyq;fs;  

1.5X + 1Y <= 60,000- rkd;ghL 02 

re;ij Njitg;ghL 

X ≤ 25,000               - rkd;ghL 03 

Y ≤ 32,000               - rkd;ghL 04 
 

 

 

 

rkd;ghL 1 4X + 4Y ≤220,000 

rkd;ghL 2 1.5X + 1Y ≤ 60,000 

rkd;ghL 3 X ≤25,000 

rkd;ghL 4 Y≤32,000 

rkd;ghL 5            X,Y≥0   
 

 
 

 

 

 

 

 

A B 

tpw;gid tpiy 1,200 900 

Neu; nghUs; :; X1 (360) (240) 

Neu; nghUs;  X2 (240) (240) 

Neu; $yp (375) (250) 

khWk; Nke;jiy (120) (80) 

xU myfpw;fhd gq;fspg;G   

                          

105  

                   

90  



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

(X=0 , Y=55,000) , (Y=0 , X=55,000) 

(X=0 , Y=60,000) , (Y=0 , X=40,000) 

 

(C) 
 
 

 

(06 Gs;spfs;) 
(b) 

 
 

 

A(0,32,000) 

B(18,000,32,000) 

C(25,000,22,500) 

D(25,000,0) 

 

 

cj;jk nghUl; fyit 

 

 

= 

= 

= 

= 

 

- 

 

 

2,880,000 

4,770,000 

4,650,000 

2,625,000 

 

nghUs; A=18,000 

nghUs;  B=32,000 

 
  (03 Gs;spfs;) 

(nkhj;jk;  25 Gs;spfs;) 

rhj;jpag; 
gpuNjrk; 

1.5X+Y≤60,000 

X≤25,000 

4X+4Y≤220,000 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

 
tpdh 09 f;F gupe;Jiuf;fg;gl;l tpilfs;: 
 
mj;jpahak; 05 – KjyPl;L kjpg;gha;T 
 
 

(A) 
 
 

 

Mz;L 0 1 2 3 4 5 
KjyPL (50,000) 

   

  
tUkhdk; - 40,000 48,000 49,000 51,000 52,000 
khWgLk; fpuak; - (20,600) (28,800) (29,400) 30,345 30,940 
epiyahd 
fpuak; - (5,000) (5,000) (5,000) (5,000) (5,000) 
tup 
nrYj;jg;gl;lJ 
(W-01) - (532) (476) (588) (883.40) (4,496.80) 
 (50,000) 13,868 13,724 14,012 14,771.60 11,563.20 
foptpl;l 
fhRg;gha;r;ry; 1 0.892 0.797 0.712 0.635 0.5674 
 

(50,000) 12,382 10,940 9,973 9,387 6,591 
epfu 
fhRg;gha;r;ry =(727)      
 

 

 

 

 

 

 

 

 

 

NkNy cs;s Kbtpd; gb epfu fhRgha;r;ry; KbthdJ &gha; 727 vjpu;kiwahdjhf 

cs;sJ. vdNt ,e;j jpl;lkply; eilKiwf;F rhj;jpakpy;iy  

 

 

 

 
 

  (10 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 

 W1 -  tup nrYj;jg;gl;lJ 

  

 

,yhgk; 
 

epiyahd 
fpuak; 

%yjdf; 
nfhLg;gdT tup @ 28% tup nrYj;jg;gl;lJ 

Y1 19,400 5,000 (12,500) 1,900 532 

Y2 19,200 5,000 (12,500) 1,700 476 

Y3 19,600 5,000 (12,500) 2,100 588 

Y4 20,655 5,000 (12,500) 3,155 883 

Y5 21,060 5,000 - 16,060 4,497 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

(B) 

(a) 

(i)  
mj;jpahak; 02-cau; Kuz;fspDlhf jpl;lkplYk; fl;Lg;gLj;jYk;  

 
Neu; $yp tpfpj 
Kuz;  

 

= 

 
 

gad;gLj;jg;gLk; cz;ikahd Neuk; * (epak 
tPjk;-cz;ikahd tPjk;) rhjfk; 
 

 

 

 

 

 
 

jpwd; kpf;f $yp = 6,150 kzp *(400-425) 153,750 

 

ghjfk; 
 

jpwdw;w $yp  

 
= 27,400 kzp *(180-170)  

274,000 

 
rhjfk; 
 

nkhj;jk;    120,250 rhjfk; 

 
   (02 Gs;spfs;) 

(ii) 
Neu; $yp fyit 
Kuz;  

 

= 

 
 

epak tPjk; *(nkhj;j cz;ikahd gad;ghL  - 
epak fyit)-(nkhj;jk;  cz;ikahd gad;ghL  * 
cz;ikahd fyit) 
 

 

 

 

 

 
 

jpwd; kpf;f $yp = 400*(33,550*1.5/7.5-33,550kzp*6,150/33,550) 224,000 rhjfk; 

jpwdw;w $yp  

 
 
= 

180*(33,550*6/7.5-33,550 kzp *27,400/33,550) 

 
100,800 

 

ghjfk;; 
 
 

nkhj;jk;    123,200 rhjfk; 

      
   (04 Gs;spfs;) 

(iii) 
Neu; $yp tpisT 
Kuz;  

 

= 

 
 

epak tPjk; *[(nkhj;j   cz;ikahd gad;ghL  - 
epak fyit)-( nkhj;j  cz;ikahd gad;ghL  * 
epak fyit)] 

 

 

 

 

 

 
 

jpwd; kpf;f $yp = 400*(32,850*1.5/7.5-33,550kzp*1.5/7.5) 56,000 

 

ghjfk; 

jpwdw;w $yp  

 
 
= 

 

180*(32,850*6/7.5-33,550kzp*6/7.5) 
 

100,800 

 
ghjfk; 
 

nkhj;jk;     

156,800 

 
ghjfk; 

 
(04 Gs;spfs;) 

 
 
 
 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

 

(b) 

 

mj;jpahak; 02-cau; Kuz;fspDlhf jpl;lkplYk; fl;Lg;gLj;jYk;  
 

njhopw;ghl;L;f; $w;W 
  

  

ghjpl;l gq;fspg;G 4,300*895/-   3,848,500 

tpw;gid vy;iy fdtsT Kuz;    71,600 

cz;ikahd tpw;gidapyhd ghjPl;l 
gq;fspg;G 

   3,920,100 

khWk; fpuak;  ghjfk; rhjfk;  
tpw;gid tpiy Kuz;  219,000   

Neu; nghUs; tpiy Kuz; ;  

 

356,000  
Neu; nghUs; ghtid Kuz;  182,000   

Neu; $yp tpfpj Kuz;    120,250  

Neu; $yp fyit Kuz;  
 

  123,200  

Neu; $yp tpisT Kuz;  
 

 156,800   

khWk; Nke;jiy nrytpd Kuz;  70,500   

khWk; Nke;;;jiy tpidj;j;pwd; ; Kuz;  77,000   

nkhj;j  khWk; fpuak;  705,300 599,450 (105,850) 

cz;ikahd gq;fspg;G    3,814,250 
 

 
(05 Gs;spfs;) 

                (Nkhj;jk;  25 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 gpupT C  ,d; KbT 



 

[Type text]       Kfhikj;Jtf; fzf;fPLk; epjpapaYk;;; 
   
AA3/MAF 
 

 
 
 
 
 

Notice:  

 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka constitute 

part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should not 

be construed as the “Only” answers, or, for that matter even as “Model Answers”. The fundamental 

objective of this publication is to add completeness to its series of study texts, designs especially for the 

benefit of those students who are engaged in self-studies. These are intended to assist them with the 

exploration of the relevant subject matter and further enhance their understanding as well as stay relevant 

in the art of answering questions at examination level. 
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